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.y —_f a, (X = X)+b (Y -Y)+c,(Z-2,)
’ 8, (X = X ) +by (Y =Y) +¢5(Z-Z,) |

a, (X =X,)+b,(Y-Y,)+c,(Z-2,)

Y T T (X =X )b, (YY), (Z-2,)
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.b1X+b2y—b3f

aiXx + a2y —asf

CiX + Cz2y — csf

CiX + C2y — Csf

-
.







;x(l J)_—[(n D(n— Pxa+1(n— j)X2+(n—I)jX4+IJX3]'

y(1, J) ——[(n =)= yr+in—J)yz+(n—1) Jys+ IJys]
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Cau(t)  ba(t)

cu(t)

az(t) ba(t) coft)

‘as(t) bs(t) cs(t)

X — Xs(t)
Y —Ys(t)

L —Zs(t)




|

0= % [ Xaz(t) + Yhe(t) + Zca(t) — (Xs(t)az(t) + Ys(t)bz(t) + Zs(t)ca(t))]

Xa,(t) + Yb,(t) + Zc,(t) =A(t)

A(t) = Xs(t)az(t) + Ys(t)bz(t) + Zs(t)c2(t)



i >
az(t) =a2" + a2t + a2?t% + ..
b2(t) =b2® + b2®t + b2t +--.
C2(t) =c2® + C2®t + C2t?
A(t): A(O) 4 A(l)t_l_ A(Z)tZ 4.




*
[Xa® + Y +Z¢° — AP+ [Xa® +YR® +Zc:® — APt
+[Xa? + Y +Zc® - APT? +---=0

_________________________________________________________________________________

__[Xa® +YR® +Ze"” —A?) +(Xa” +Yh® +Ze” —A”)t° ]
(Xa® +YR® +Ze" —AY)
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$> 0 X

o (X = Xs()at) + (Y = Ys@)bu(t) +(Z - Zs()cu(t)
(X — Xs(t))as(t) + (Y —Ys(t))bs(t) + (Z — Zs(t))ca(t)

o (t) = ¢ (0 ) + A o Lt ~ |
o (t) = o (0 ) + A o t
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+

X = Xs(t) +

ai(t)x —as(t) f
Ci(t)x —cs(t) f
ba(t)x — bs(t) f
ci(t)x —cs(t) f

(£ = Zs(t))

Y = Ys(t) + (Z — Zs(1))

a, (t) a, (1) ..c(t) X (1) Yo(1)
Zs(1) X Y




wi= w o+ (li—lo)A w
ki= ko+ (li—-—1lo0o)A
Xsi = Xso+ (li—=—To)A X s
Yss = Yso+ (li— lo)AYs
Zsi = Zso+ (li—1lo)A Zs
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ai(t)x —as(t) f
Ci(t)x —cs(t) f
D1(t) X — bs(t) f
ci(t)x —cs(t) f

X = Xs(t) + (Z - Zs(1))

Y =Ys(t) + (Z - Zs(t))

_______________________________________________________



P11 P12

P21 P2

X'= ao+ a1 X '+azY "’
y'=Dbo+ b1 X '+b2Y"



XuY4)
X2Y>)

X3:Y3)
X1 Y1)
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AXi = Co+ (C1Xi +C2Yi) + (C3Xi® +CaXiYi + CsYi%)

+(CeXi® +C7 X %Yi + e XiYi® +CoYi%) +- -
A =o + (01X +d2Y5) + (dsXi® +daXiYi +dsYi?)
+(deXi® +d7Xi%Yi + deXiYi® +doYi®) +---







AXi = ao + (awXi + azVyi) + (E:lin2 + asXiyi + a5yi2)
3 2. 2 3
+ (3.6X| +arXi Yi+ asXiyi + aoyi ) + .-

AYi =bo + (bXi + b2yi) + (bsxi® + baxiyi + bsyi®)

+ (beXi® +b7Xi° yi + bexiyi® +bayi®) +---
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